Test 1 prep - similar answers.notebook March 06, 2017

1. solve for x. 2. solve for x.

AJKL ~ AGKH AABC~AXYZ

" Given ABIG ~ ASKY. Solve for x and y if Bl =
4x + 4,1G = 40, BG = 5y + 3, 5K = 2.5x + 6,
KY = 30, and SY = 4y.

4. A statue that is 12 ft tall casts a shadow that
is 15 ft long. Find the length of the shadow
that a 8 ft cardboard box casts.
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5. In the diagram, AABC ~ AEFG, AB = 12,
EF =30, BC =z, and FG = 2z + 11. What is

the value of &7
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6.
A man 6 ft tall casts a shadow thatis 11 ft. 6 in. long. The end of his shadow coincides with the end of
the shadow cast by a building 128 ft. from the man. Find the height of the building.

Be careful here. Watch the units. this will be 11.5 ft
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" Given ABIG ~ ASKY. Solve for x and y if Bl =

4x + 4, IG = 40, BG = 5y + 3, SK = 2.5x + 6, )(=(€ — O\
KY = 30, and SY = 4y.
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A man 6 ft tall casts a shadow thatis 11 ft. 6 in. long. The end of his shadow coincides with the end of
the shadow cast by a building 128 ft. from the man. Find the height of the building.

Be careful here. Watch the units. this will be 11.5 ft
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